SEEING THE INVISIBLE: AROUND GENERALIZED KUBERT FUNCTIONS

Kalyan Chakraborty (Allahabad, India) Shigeru Kanemitsu (Kitakyushu, Japan) Takako Kuzumaki (Gifu, Japan)

Communicated by Imre Kátai

(Received February 17, 2018; accepted March 23, 2018)

Abstract. In this note, we shall make a survey on the generalized Kubert functions (also called functions with distribution property) emphasizing the use of the polylogarithm function in number theory. We shall reveal that the Bernoulli function part often appears in the form of a difference of the first polylogarithm function and elucidate the limiting behavior of functions in question as they approach a rational point on the unit circle. We shall clarify this elimination of Clausen function part in Riemann's posthumous fragment II and Mordell's Lambert-like series.

1. Introduction and preliminaries

Riemann left three (or four if we count the example, around 1854, of everywhere non-differentiable function) legacies in number theory. The biggest is surely his memoir [10] (1859) on the number of primes under a given quantity, his unique paper in number theory. Prior to this, *in his Habilitationsschrift*

Key words and phrases: Kubert function, Kubert identity, Clausen function, periodic Bernoulli polynomial, odd part.

²⁰¹⁰ Mathematics Subject Classification: Primary: 11F03, 01A55, 40A30. Secondary: 42A16.

The second author was supported by Infosys for which he expresses his sincere gratitude https://doi.org/10.71352/ac.47.185

(1854), in which he developed the theory of Riemann integration, he gave an example of a discontinuous and integrable function, cf. Wang [16].

Dedekind [1] succeeded in elucidating the genesis of all the formulas in Part II of Riemann's posthumous fragment [11]. It has no text, only formulas dealing with the asymptotic behavior of those modular functions from Jacobi's [3], for which the variable tends to rational points on the unit circle. Part I has been analyzed notably by Wintner (1941) [17], which contains some farreaching comments on Part II.

Dedekind did this task by introducing the most celebrated Dedekind etafunction defined by

(1.1)
$$\eta(z) = e^{\frac{\pi i z}{12}} \prod_{n=1}^{\infty} (1 - e^{2\pi i n z}), \text{ Im} z > 0.$$

Dedekind proved the general transformation formula, which contained the Dedekind sum

(1.2)
$$s(h,k) = \sum_{m=1}^{k-1} \left(\left(\frac{m}{k} \right) \right) \left(\left(\frac{hm}{k} \right) \right) = \sum_{m \mod k} \left(\left(\frac{m}{k} \right) \right) \left(\left(\frac{hm}{k} \right) \right),$$

where $(h, k) = 1, k \in \mathbb{N}$, and where

(1.3)
$$((x)) = \begin{cases} x - [x] - \frac{1}{2} & x \notin \mathbb{Z} \\ 0 & x \in \mathbb{Z} \end{cases} = -\frac{1}{\pi} \sum_{n=1}^{\infty} \frac{\sin 2\pi nx}{n}$$

is the saw-tooth Fourier series, where the convergence is uniform in any interval free from integer points.

What Riemann did was to eliminate the singular part by taking the odd part

(1.4)
$$\sum_{2 \nmid n} a_n = \sum_n a_n - \sum_{2 \mid n} a_n$$

The polylogarithm function $l_1(x)$ of order 1 is

(1.5)
$$\sum_{n=1}^{\infty} \frac{\cos(2\pi nx)}{n} + i \sum_{n=1}^{\infty} \frac{\sin(2\pi nx)}{n} = l_1(x) = \sum_{n=1}^{\infty} \frac{e^{2\pi inx}}{n} = A_1(x) - \pi i \overline{B}_1(x),$$

for 0 < x < 1, where

(1.6)
$$A_1(x) = -\log 2|\sin \pi x| = \sum_{n=1}^{\infty} \frac{\cos(2\pi nx)}{n},$$

is its real part, the Clausen function and the imaginary part is

(1.7)
$$l_1(x) - l_1(-x) = -2\pi i \overline{B}_1(x), \quad 0 < x < 1,$$

where

(1.8)
$$\bar{B}_1(x) = x - [x] - \frac{1}{2} = -\frac{1}{\pi} \sum_{n=1}^{\infty} \frac{\sin(2\pi nx)}{n} = ((x))$$

is the first periodic Bernoulli polynomial, where the second equality holds for $x \in \mathbb{Z}$. One of the earliest use of the polylogarithm function (inclding higher order ones) in this way is probably in Lehmer [6], Yamamoto [18] etc.

We give one typical example from Wang [15] and [16], the former of which generalized and shortened the 65 pages paper of de Reyna [2] to 16 pages.

Let

(1.9)
$$\log \frac{2K}{\pi} = \sum_{p=1}^{\infty} \frac{4z^p}{p(1+z^p)},$$

be one of elliptic modular functions, where p runs through odd integers (i.e. odd part)

Lemma 1.1.

$$\log \frac{2K}{\pi} =$$
(1.10)
$$= -\log(1-y) + \omega(y) + \log \frac{\pi}{Q} + \sum_{r=1}^{Q-1} (-1)^r \left(l_1 \left(\frac{Mr}{Q} \right) - 2l_1 \left(\frac{Mr}{2Q} \right) \right)$$

for Q odd;
(1.11)
$$\log \frac{2K}{\pi} = -\frac{2\pi^2}{Q^2(1-y)} - \log(1-y) + \frac{\pi^2}{Q^2} + \log \frac{8\pi}{Q} + \omega(y) - \sum_{r=1}^{\frac{Q}{2}-1} (-1)^r \frac{2r}{Q} \left(2l_1\left(\frac{Mr}{2Q}\right) - 2l_1\left(\frac{-Mr}{2Q}\right) - l_1\left(\frac{Mr}{Q}\right) + l_1\left(\frac{-Mr}{Q}\right) \right),$$

for Q even and $\frac{Q}{2}$ odd.

(1.12)
$$\log \frac{2K}{\pi} = -\log(1-y) + \log \frac{2\pi}{Q} + \omega(y) + 2\sum_{r=1}^{\frac{Q}{2}-1} (-1)^r \frac{2r}{Q} \times \\ \times \left(2l_1\left(\frac{Mr}{2Q}\right) - 2l_1\left(\frac{-Mr}{2Q}\right) - l_1\left(\frac{Mr}{Q}\right) + l_1\left(\frac{-Mr}{Q}\right)\right),$$

for $\frac{Q}{2}$ even.

Theorem 1.1. (N.-L. Wang) Let $\xi = \frac{M}{Q}$ be a rational number with M even and Q > 1 and let $z = ye^{\pi i\xi}$, $y \in [0, 1)$. Then we have

(1.13)
$$\log \frac{2K}{\pi} = -\log(1-y) + \omega(y) + \log \frac{\pi}{Q} - \frac{\pi i}{2} \sum_{r=1}^{Q-1} (-1)^{r + \left[\frac{Mr}{Q}\right]},$$

for Q odd, and

(1.14)
$$\log \frac{2K}{\pi} = -\frac{2\pi^2}{Q^2(1-y)} - \log(1-y) + \frac{\pi^2}{Q^2} + \log \frac{8\pi}{Q} + \omega(y) - \pi i \sum_{r=1}^{\frac{Q}{2}-1} \frac{2r}{Q} (-1)^{r+\left[\frac{Mr}{Q}\right]}$$

for Q even and $\frac{Q}{2}$ odd.

(1.15)
$$\log \frac{2K}{\pi} = -\log(1-y) + \log \frac{2\pi}{Q} + \omega(y) + 2\pi i \sum_{r=1}^{\frac{Q}{2}-1} \frac{2r}{Q} (-1)^{r+\left[\frac{Mr}{Q}\right]}$$

for $\frac{Q}{2}$ even; where $2\pi i \frac{M}{Q}$ is one of the values of $\log e^{2\pi i \frac{M}{Q}}$, and $\omega(y)$ is a continuation function on I = [0, 1] with $\omega(1) = 0$ which maybe different in different place.

There are more cases. In a forthcoming paper of Kanemitsu and Mehta [4], Mordell's Lambert-like series has been elucidated. In order to find the invisible in Mordell [8], we introduce the Lambert-like series

(1.16)
$$\tilde{g}(t,x) = \sum_{m=0}^{\infty} \tilde{h}(m,t)x^m = \sum_{n=1}^{\infty} a_n \left(\sum_{m=0}^{\infty} e^{2\pi i m \alpha} x^m\right) t^n,$$

where

(1.17)
$$\tilde{h}(m,t) = \sum_{n=1}^{\infty} a_n e^{2\pi i m \alpha} t^n,$$

for |x| < 1, $\alpha \notin \mathbb{Q}$.

Theorem 1.2. Let $\alpha \notin \mathbb{Q}$, β real, |x| < 1. Then

(1.18)
$$\sum_{n=1}^{\infty} \frac{e^{2\pi i\beta n}}{n} \left(\sum_{m=0}^{\infty} e^{2\pi i m n\alpha} x^m \right) =$$
$$= \sum_{n=1}^{\infty} \frac{e^{2\pi i n\beta}}{n} \frac{1}{1 - x e^{2\pi i n\alpha}} = \sum_{m=0}^{\infty} \tilde{h}(m, 1) x^m$$

where

(1.19)
$$h(m,1) = -\log 2 |\sin \pi \theta(m)| - \pi i \bar{B}_1(\theta(m)),$$

where

(1.20)
$$\theta(m) = m\alpha + \beta \notin \mathbb{Z}.$$

In view of (1.7), we may consider the imaginary part of $\tilde{h}(m,t)$, which is the function $h(m,t)2i \operatorname{Im} \tilde{h}(m,t) = \text{considered by Mordell.}$

On the other hand, the Clausen function appears in certain crucial places. We quote a typical example from Kanemitsu–Kuzumaki [5].

Theorem 1.3. Let m = 5, $K = \mathbf{Q}(\zeta_5)$ and k = 2, 3. Then $K^+ = \mathbf{Q}(\sqrt{5})$, and

$$\begin{split} \zeta_{\mathbf{Q}(\zeta_5)}(2) &= \frac{8\pi^6}{375\sqrt{5}} \left\{ A_2 \left(\frac{1}{5}\right)^2 - A_2 \left(\frac{2}{5}\right)^2 \right\}, \\ \zeta_{\mathbf{Q}(\zeta_5)}(3) &= -\frac{64\pi^8}{5^{7\frac{1}{2}}} \,\,\zeta(3) \left\{ A_3 \left(\frac{1}{5}\right) - A_3 \left(\frac{2}{5}\right) \right\}, \\ \zeta_{\mathbf{Q}(\sqrt{5})}(2) &= \frac{2\pi^4}{75\sqrt{5}} \,\,, \\ \zeta_{\mathbf{Q}(\sqrt{5})}(3) &= -\frac{4\pi^2}{3\sqrt{5}} \,\,\zeta(3) \left\{ A_3 \left(\frac{1}{5}\right) - A_3 \left(\frac{2}{5}\right) \right\}. \end{split}$$

2. Kubert identities

As we have seen, the invisible part, the Clausen function plays an important role. In the hope of introducing more general Dedekind sum by replacing the saw-tooth Fourier series in (1.2) by Kubert functions, we study the class of (generalized) Kubert functions f(x). They are periodic of period 1 and satisfy the (generalized) Kubert relation (Walum [14])

(2.1)
$$\sum_{r \mod m} f\left(x + \frac{r}{m}\right) = \sum_{r=0}^{m-1} f\left(\frac{mx+r}{m}\right) = \theta(m)f(mx),$$

for every positive integer m, where $\theta(m)$ is a function in m only and the sum is over all residue classes modulo m. In most cases, however, we may choose the least non-negative residues modulo m as the mid term in (2.1). (2.1) is often expressed as

(2.2)
$$\sum_{r \mod m} f\left(\frac{x+r}{m}\right) = \sum_{r=0}^{m-1} f\left(\frac{x+r}{m}\right) = \theta(m)f(x).$$

Here $\frac{x+r}{m}$ varies all the solutions y of my = x in \mathbb{Q}/\mathbb{Z} or \mathbb{R}/\mathbb{Z} but the situation is set up so that it makes sense for $x \in (0, 1)$ or $x \in (0, \infty)$. (2.1) is slightly more general than the defining condition of other authors who restrict to the case $\theta(m) = m^{1-s}$. Milnor [7] defines the relation $(*_s)$:

(2.3)
$$(*_s) \qquad \sum_{r=0}^{m-1} f\left(\frac{x+r}{m}\right) = m^{1-s} f(x).$$

Example 2.1. There are many examples of Kubert functions.

(i) The simplest is the Bernoulli polynomial. The *n*th Bernoulli polynomial $B_n(x)$ is defined by the Taylor expansion

(2.4)
$$\frac{ze^{xz}}{e^z - 1} = \sum_{n=0}^{\infty} \frac{B_n(x)}{n!} z^n, \quad |z| < 2\pi$$

and the *n*th Bernoulli number B_n is the value $B_n(0)$. The *n*th Bernoulli polynomial satisfies the Kubert identity

$$(*_n)$$
 $\sum_{r=0}^{m-1} B_n\left(\frac{x+r}{m}\right) = m^{1-n}B_n(x),$

which has been known as the *multiplication formula* in the theory of Bernoulli polynomials.

The periodic Bernoulli polynomial $B_n(x)$ is defined by

(2.5)
$$\bar{B}_n(x) = B_n(x - [x]),$$

where [x] indicates the greatest integer not exceeding x.

The *n*th periodic Bernoulli polynomial satisfies the Kubert identity $(*_n)$. We have the *Fourier expansion* (Hurwitz, 1890)

(2.6)
$$\bar{B}_n(x) = -\frac{n!}{(2\pi i)^n} \sum_{\substack{k=-\infty\\k\neq 0}}^{\infty} \frac{e^{2\pi i k x}}{k^n}.$$

(ii) The digamma function $\psi(x) = \frac{\Gamma'}{\Gamma}(x)$ satisfies a modified Kubert relation

(*1)
$$m^{-1} \sum_{r=0}^{m-1} \psi\left(\frac{x+r}{m}\right) = \psi(x) - \log m$$

and the gamma function satisfies the Gauss multiplication formula.

(iii) The Hurwitz zeta-function and the polylogarithm functions satisfy the Kubert relation. These as well as the Bernoulli polynomials will be expounded as examples of the Lipschitz–Lerch transcendent elsewhere.

A more general setting of the *uniform map* f has been considered by Sun [13] which reads

(2.7)
$$\sum_{r=0}^{m-1} f\left(\frac{x+r}{m}, my\right) = f(x, y).$$

Here the domain of definition of f is $X \times Y \subset \mathbb{C} \times \mathbb{C}$ and it is assumed that $\{(\frac{x+r}{m}, my) | r \mod m\} \subset X \times Y.$

In the case where f is of variables separable type

(2.8)
$$f(x,y) = g(x)h(y)$$

it is proved ([13]) that (2.7) amounts to Theorem 2.3, i.e. θ is completely multiplicative or totally multiplicative, i.e. $\theta(mn) = \theta(m)\theta(n)$ for all $m, n \in \mathbb{N}$.

Theorem 2.2. ([13]) If f is a non-zero solution of (2.7) of variables separable type, then the uniform map condition (2.7) amounts to

(2.9)
$$\sum_{r=0}^{m-1} g\left(\frac{x+r}{m}\right) = \theta(m)g(x),$$

i.e. the generalized Kubert relation (2.1) and the function θ in (2.17) is completely multiplicative.

We shall prove Theorem 2.4 below which is a generalization of Sun's theorem.

On [7, p.281], it is remarked that it suffices to assume (2.10) to hold for all prime values of m, to cover the general case. First we remark that the proof of [14, Theorem 2.1], which seems to be due to Carlitz, will give simultaneously a proof of the fact that θ in (2.1) is completely multiplicative as well as this primality assertion.

Theorem 2.3. ([7], [14])

(i) If f is a non-zero solution of (2.1), then θ is completely multiplicative.

(ii) If (2.1) holds true for all prime values of m, then it is true for all positive integral values of m.

Proof. For arbitrary m and n, we transform

(2.10)
$$S := \sum_{r=0}^{mn-1} f\left(x + \frac{r}{mn}\right).$$

by writing r = an + b. We see that a, b run through $0 \le a < m$ and $0 \le b < n$, respectively. Hence (2.10) becomes the double sum

(2.11)
$$S = \sum_{b=0}^{n-1} \sum_{a=0}^{m-1} f\left(x + \frac{b}{mn} + \frac{a}{m}\right).$$

Since the inner sum in (2.11) is $\theta(m)f\left(mx+\frac{b}{n}\right)$ in case (i) or if m is a prime in case (ii), it follows that

(2.12)
$$S = \sum_{r=0}^{mn-1} f\left(x + \frac{r}{mn}\right) = \theta(m)\theta(n)f(mnx),$$

in case (i) or if m is a prime in case (ii). In the case of (i), since $S = \theta(mn)f(mnx)$, we choose x so that $f(mnx) \neq 0$, and we conclude that θ is completely multiplicative.

To prove (ii), we appeal to (2.12), which means that $\sum_{r=0}^{mn-1} f\left(x + \frac{r}{mn}\right) = \theta(m)\theta(n)f(mnx) = \theta(mn)f(mnx)$ holds by (i) if m, n are primes, i.e. that (2.1) is true for their product mn, which implies the validity of (2.1) for all values of m.

Lemma 2.1. Suppose f is a non-zero uniform map of variable separable type satisfying (2.8) and that

$$(2.13) f(y_0) \neq 0$$

for some y_0 in the domain of h, then

$$(2.14) f(my_0) \neq 0,$$

for all $m \in \mathbb{N}$.

Proof. (2.25) reads

(2.15)
$$h(my_0)\sum_{r=0}^{m-1}g\left(\frac{x+r}{m}\right) = g(x)h(y_0).$$

For some x_0 , we must have $g(x_0) \neq 0$, in which case the right-hand side is non-zero, whence so is the left-hand side and the assertion follows.

Theorem 2.4. (Generalization of Sun's theorem)

(i) Suppose f is a non-zero solution of (2.7) of variables separable type f(x,y) = g(x)h(y). For a fixed y_0 such that $h(y_0) \neq 0$, let

(2.16)
$$\theta(m) = \frac{h(y_0)}{h(my_0)} \neq 0$$

whose non-vanishingness follows from Lemma 2.1. Then (2.7) amounts to

(2.17)
$$\sum_{r=0}^{m-1} g\left(\frac{x+r}{m}\right) = \theta(m)g(x),$$

and the function θ in (2.17) is completely multiplicative.

(ii) It suffices to assume the validity of

(2.18)
$$g(x)h(y) = h(mny)\sum_{r=0}^{mn-1} g\left(\frac{x+r}{mn}\right).$$

for all relatively prime pairs m, n and the validity of (2.25) for prime power values of m.

Proof. For arbitrary m and n, we transform the right-hand-side of

(2.19)
$$g(x)h(y_0) = h(mny_0) \sum_{r=0}^{mn-1} g\left(\frac{x+r}{mn}\right),$$

which is (2.25) with modulus mn. By writing r = an + b, we see that a, b run through $0 \le a < m$ and $0 \le b < n$, respectively. Hence the right-hand side of (2.19) becomes the double sum

(2.20)
$$g(x)h(y_0) = h(mny_0)\sum_{b=0}^{n-1}\sum_{a=0}^{m-1}g\left(\frac{x+b}{mn} + \frac{a}{m}\right)$$

whose innermost sum is

(2.21)
$$\frac{1}{h(my_0)}h(my_0)\sum_{a=0}^{m-1}g\left(\frac{x+b}{mn}+\frac{a}{m}\right) = \frac{1}{h(my_0)}h(y_0)g\left(\frac{x}{n}+\frac{b}{n}\right).$$

Substituting this in (2.20) and arguing in the same way as above, we conclude that

$$(2.22) \quad g(x)h(y_0) = h(mny_0) \frac{1}{h(my_0)h(ny_0)} h(y_0)h(ny_0) \sum_{b=0}^{n-1} g\left(\frac{x}{n} + \frac{b}{n}\right) = h(mny_0)\theta(m)\theta(n)g(x)$$

Choosing an x such that $g(x) \neq 0$, we infer that (2.22) implies

(2.23)
$$h(y_0) = h(mny_0)\theta(m)\theta(n),$$

which is the multiplicativity of θ .

Note that (2.22) may be written as

(2.24)
$$g(x)\theta(mn) = \theta(m)\sum_{b=0}^{n-1}g\left(\frac{x}{n} + \frac{b}{n}\right)$$

which amounts to (2.17) on account of multiplicativity and non-vanishingness of θ , which proves assertion (i).

To prove (ii) we note that Uunder condition (2.8), we note that (2.7) reads

(2.25)
$$h(my)\sum_{r=0}^{m-1}g\left(\frac{x+r}{m}\right) = g(x)h(y).$$

We appeal to (2.22) and note that (2.19) leads to

(2.26)
$$\sum_{r=0}^{mn-1} g\left(\frac{x+r}{mn}\right) = \theta(m)\theta(n)g(x)$$

valid for all primes m, n. Using multiplicativity of θ , (2.26) amounts to the validity of (2.25) for the product of two primes. By the UFD property of integers, this leads to the validity of (2.25) for all $m \in \mathbb{N}$, completing the proof.

References

- Dedekind, R., Erläuterungen zu zwei Fragmenten von Riemann, Math. Werke Bd. 1, 1930, 159-173, Braunschweich (in: Bernhard Riemanns gesammelte mathematische Werke und wissenschaftlichen Nachlass, 2, Aufl., 466-478, (1892).
- [2] de Reyna, A., Riemann's Fragment on the limit values of elliptic modular functions, J. Ramanujan. 8 (2004), 57–123.
- [3] **Jacobi**, C.G.J., Fundamenta nova, §40 (=Ges. Werke Vol. 1, 159–164).
- [4] Kanemitsu, S. and J. Mehta, Generalization of Mordell's formula, in prep.
- [5] Kanemitsu, S. and T. Kuzumaki, On a generalization of the Demyanenko determinant, Abh. Math. Sem. Univ. Hamburg, 77 (2007), 25–38.
- [6] Lehmer, D.H., Euler constants for arithmetic progressions, Acta Arithmetica, 27 (1975), 125–142; Collected Papers of D. H. Lehmer.

- [7] Milnor, J., On polylogarithms, Hurwitz zeta-functions and the Kubert identities, *Enseign. Math.*, (2) 29 (1883), 281–322.
- [8] Mordell, L.J., On the series $\sum \frac{a_n}{1-e^{2\pi i n\alpha}}$, J. London Math. Soc., **38** (1963), 111–116.
- [9] Riemann, B., "Über die Darstellbarkeit einer Function durch eine trigonometrische Reihe" (1854), In:*Riemann's Collected works*, pp. 227–265.
- [10] Riemann, B., Über die Anzahl der Primzahlen unter einer gegebenen Grösse, Monatsber. Berlin. Akad., (1859), 671–680.
- [11] Riemann, B., Fragmente über Grenzfälle der elliptischen Modulfunctionen, In: [12], 455–465.
- [12] Riemann, B., Collected Works of Bernhard Riemann, ed. by H. Weber, 2nd ed. Dover, New York, 1953.
- [13] Sun, Z.-W., On covering equivalence, In: Analytic Number Theory, ed. by Ch.-H. Jia and K. Matsumoto, Kluwer, Dordrecht 2002, pp. 277–302.
- [14] Walum, H., Multiplication formulae for periodic functions, *Pacific J. Math.*, 149(2) (1991), 383–396.
- [15] Wang, N.-L., On Riemann's posthumous fragment II on the limit values of the elliptic modular functions, *Ramanujan J.*, 24 (2011), 129–145.
- [16] Wang N.-L., Arithmetical Fourier series and the limit values of elliptic modular functions, Proc. Indian Acad. Sci. Ser. A, to appear.
- [17] Wintner, A., On Riemann's fragment concerning elliptic modular functions, Amer. J. Math., 63 (1941), 628–634.
- [18] Yamamoto, Y., Dirichlet series with periodic coefficients, In: Proc. Intern. Sympos. "Algebraic Number Theory", Kyoto 1976, JSPS, Tokyo, 275–289.

K. Chakraborty

Harish-Chandra Research Institute, HBNI Chhatnag Road, Jhunsi Allahabad-211 019 India kalyan@hri.res.in

S. Kanemitsu

Kyushu Institute of Technology Faculty of Engineering Suisencho 1-1 Kitakyushu 804-8550 Japan omnikanemitsu@yahoo.com

T. Kuzumaki

Department of Mathematical Sciences Gifu University Gifu Japan kuzumaki@gifu-u.ac.jp